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lly and follow them :

. § very =~
ntains 37 questions. All questions are compulsory.

(vii) Section E — Question 36 are Case based/Source based questions with
(viii) Section F — Question no. 37 is map skill based, carrying 5 marks with two paris,
37(i) from History (2 marks) and 37(ii) from Geography (3 marks).
(ix) There is no overall choice in ﬁﬁ.’msrfan paper. However, an internal choice has
been provided in few questions. Only one of the choices in such questions have to be
attempied.
) In addition to this, separate instructions are given with each section and question,
wherever necessary. r
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5. Why did the [ndian government liberalize trade regulations in 1991 ? 1
to Indian

(a) Government wanted
Currency.

foreign exchange equivalent

(b) Government wanted
countms
(c) Gwammwt wanted Ipdian producers to compete in the World
Market. |
(d) Government wanted to provide socio-economic justice to all.
3. Whjch one of the following sectors contribute highest in the GDP of
India ? 1
(ﬂ) P.',_ | I :l
(b) Secondary m‘ 3
“\ @ Tetary
@ Which of the f : e,
R Indef!;mng countries has better rank in Human
" 1

L TR : A Fur'lu 3 i
@ Afghamsan
(b)) Myanmar ‘*‘. '
c) India T
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. Whichone g is an example of the Ferrous Metal ? A
(a) Coppet - ©
(c) Bauxite BRI 1 (d) Nickel
& Whoamong the Mhproved the steam engine ? 1
(a) James Watt - (b) Thomas Edison
(¢) Benjamin Franklin (d) Alexander Fleming
9, There D:ere three important developments that greatly shrank the
pre-modern world. Identify the incorrect one from the following
1

options :
(a) The flow of trade (b) The flow of labour
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7
es has two party system ¢
fthe following countries has two party sy
hich one ol e ) ,
1 iw (b) Russia
- 'hina |
(a) Ch el
() India
(¢) America

8
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y the arrect option !
k v the ac : s & o the correct op
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revenue with them.

|2 T1tis called a three tier government. f

1 v

Options :

(a) Dictatorial System

(b) Unitary Federal System
(c) Decentralized System

(d) Imperialistic System

14. Match column — A with column — B and choose the correct option : 1 g
Column - A Column - B
(Subjects) (List)

(I) Banks I.  Concurrent List
(IT) Agriculture 2. Union List
(III) Education 3. State List
(IV) Computer 4. Residuary Subjects
Options :
| | I
()54 . s 2
(b) 3 4 | 2
(¢) 2 3 ] B
VI S TS, 3
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b Hoth (A) and (R) are true but (R) is not the correct explanation
ol (A).

() (A) i true but (R) s false.

(d) IAFHMHM‘“‘_.

16 Conmder the following statements on Power Sharing and choose the
correct aption
(1) Mmoritananism is the real spirit of democracy.
(i) It creates balance and nony in dif
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- EW'WH the question that follow :
Some comparative Data on Haryana,
Kerala and Bihar B
Literacy Net Attendance
Rate % Ratio (per
100 person)
82 # ¥ 61
94 83
62 43
How much is the Net Absence Ratio of Haryana ? Choose the
appropriate option from the following :
(a) 39 . b)) 27
(c) 38 ey ()18
20. Which type of government is likely to be more acceptable to the
people in the world ? | 1
(a) Democratic (b) Military

(¢c) Dictatorship (d) Theocratic

“ 1
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ion technology connected with

ml‘iﬂ. L1

/d‘ Explain 80 mmtuﬁonul reforms taken fo
Indian agriculture:
o 366 3

yal Partics in Indian democracy:

}B/Explﬂﬂﬂlerﬂ.oi. egiond
/}9/ ,(A{ Exanhﬂﬂmﬁﬁ that are enjoyed by the people working in k
| the organized sector: 1
i3 ¥ ! R

@ Examine IDNIEEESoctor’ contributes in
development of the nation ? |

glubal ization 7 .

r the development of #

the economic

Bl
~ SECTION-D
(Long Answer Questions) (4x5=20)

/( ““Gandhiji felt the Khilafat issue as an opportunity to bring

Hindus and Muslims under the umbrella of a unified national
5

movement.’’ Explain the statement.
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SECTION - E (3x4=12)

(Case pased/Source Based Questions)

ource and answer the questions that follow :

x{ Read the given s
/ Langu

y d
Tow many languages
Hov o

|
how one cuun_ts | t
Census of India held 1n 2011.

age piversity of India
o we have in India ? The answer dep
latest information that we have is from
This census recorded more than 1300
- . yes which pcnplﬂ mentioned as their mother tongues.
d'm"m LHIEUH.’: ;vcre grﬂllpl’-d together under some major languagﬂﬁ-
{hﬁcw I-m:fu]?:gelhanguages like Bhojpuri, Magadhi, Bundelkhandi,
:Z;:rrm:t?iafhi. Rajasthani and many others were grouped tugetl?ci
under ‘Hindi'. Even after this grouping, the Census fﬂu'nd 121 l'l_’lﬂjﬂh
languages. Of these 22 languages aré now included in the Eight
Schedule of the Indian Constitution and are therefore called
‘Scheduled ~Languages’. Others are called ‘Nﬂn—Sthc_dulcd
Languages’. In terms of languages, India 1s perhaps the most diverse

country in the world.

ends on

i
the

/m/ Explain the importance of language diversity in India.
(I” Differentiate  between  Scheduled and Non-Scheduled

Languages. . y
9})‘/T he fusion of languages hnxlited:"dle country into one cultural
entity.” Explain the statemen?a ith an example.
'

35.  Read the given source and answer the questions that follow -
WHY NEWSPAPERS ?

‘Krishnaji Trimbuck Ranade inhabitant of P ' :
News;aaper in the Marathi Language with aﬁzilg?nag:gigublmh ;
:qunnthun on every topic of local interest. It will be o en%usefu]
discussion on subjects of general utility, scientific invesfi - Ly
the speculations connected with the antiquities, statistics gaqon. e
hlStﬂry and gggmph}y of the Cﬂllntry and o £ ﬂ;e Deccan: cun{:!SltleS,
the patronage and support of all interested in th *?Sper.::lally___
knowledge and Welfare of the People is earnestly souc?teglffusmn of

Bombay Telegraph and Courier, 6 Jany . 1849

Parliament in England. That is of crif;

, . crity _
policy to suggest improvements, by ri ::?ny €Xamining government
be to the benefit of the people, alEo OS€ parts that will not
implementation. 80 by ensuring Speedy

32412 P i 4
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36.

S

0 carefully study the particul
on on the nation as well as on
{ this will

ar 1SSUES,
ght what

formatl
inmrnvcmcmﬁ. anc

[ hese assocHh
gather diverse rele
possible and des
ysiderable influence.

3 April, 1870

vant 1n
‘l".' Ih‘: ll{ll]]c
11 COI

Native Opumion, .

. - . - s o l-?
main reason of publishing newspapet by Krishnajl :
ative newspaper and political association
f opposition ”

(I)» Explain the

he task of n
role O

of pﬂpulnrity of newspapers

f{II‘_r__,. How was |

seen identical to the :
L) |
during 19

(I Analyze the reasons

century.
Read the given source and answer the questions that follow -

RAINWATER HARVESTING

ught that given the disadvantages an
purpose projects, water harvesting SYSt
both socio-economically and envimnmentalw- In
ancient India, along with the sophisticated hydraulic structures. there
system. People

existed an extraordinary tradition of water harvesting
types and

had in-depth knowledge of rairg.lll regimes and soil
techniques to harvest rainwater,

developed wide ranging
flood water in keeping with the local

groundwater, river water and
d their water needs. In hill and mountainous

ecological conditions an
regions, people built diversion channels like the ‘guls’ or ‘kuls’ of the

Western Himalayas for agriculture. ‘Rooftop rainwater harvesting’
was commonly practised to store drinking water ' '

+ | , particularly 1n
Rajasthan. In !Cht:: flood plains of Bengal, people developed inund:tion
cha*nnels to irrigate their fields. In arid and semi-arid regions
agricultural fields were converted into rain fed storage structures th ;
allowed the water to stand and moisten the soil like the ‘khadins’ ?n

Jaisalmer and ‘Johads’ in other parts of Rajasthan

Many tho d rising resistance
| : g 3
against the multi em wa

viable alternative,

/ﬁ) Why is water harvesting system a viable alternative ?

:(,)/3 escribe the process of ‘rooftop rainwater harvesting.’
I .

324/

) Mention any two meth
ods ado : .
oA pted by ancient India for water
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SECTION - F
(f\*]ap Skill Based f)u{--.,;ﬁ"ni,}

37. (i) Two places A and B have been marked on the given political

outline map of India. [dentify them with the help of given
- . S i P . . lr-’a T
information and write their correct names on the lines drawn

near them.

/Lﬂ’f’ The place where Mabhatma Gandhi started Satyagraha 1o
Indigo peasants.

(b)" The place where the session of Indian National Congress
s held in December, 1920.

(11) On the same outline map of India locate and label any three of
the following with suitable symbols :

(a) Tehri Dam

(b) Naraura Atomic Power Station
(¢) Pune Software Technology Park
(d) Haldia Sea Port

m, The following questions are only for the Visually Impaired
Candidates in lieu of questinn]m. 37

ATIEMPT ANY FIVE :

() Name the place where the session of Indian National Congress was
held in December, 1920.

(if) Name the place where Mahatma Gandhi started Satyagraha for Indigo
peasants.

(iif) Name the State where Naraura Nuclear Plant is located.
(iv) Name the State where Tehri Dam is located.
(v) Name the State where Mumbai Software Technology Park is located.

(vi) Name the State where Haldia Sea Port is located.

(2

(5x1=5)



